110mH =X

B<:106.7cm

148 (+3.2)

L—> Foin— K 4 Fir B EEEN JIE 42
1 3-543 KN =4t ERX-2-5F 158021 6
2 3-552 EE WA ERX-2- X% 155023 8
3 3-5339 FHL K BRX-1-BER 145052 1
4 3-550 BRAR BAE ERX-4-1LE 14¥094 5
5 3-540 O XKW ERX-4-FFE 14¥052 1
6 3-553 Al EE EEK-2- 5 14¥093 4
7 3-5343 Ik Kif ERX-1-FF% 14%088 3
8 3-560 FE R E®X-2- Kk 15022 7
2#8 (+1.9)

L—> Foin— K 4 Fir B EEEN JIE 42
1
2 3-542 HiE A ERX-3- KR 16049 6
3 3-546 p=1=: 27N ERX-3-#ikA 15%055 3
4 3-561 X Ett ERX-2-#HK 155006 1
5 3-5342 ZE Rt ER K153 155023 2
6 3-5340 AR X ERX-1-54%0 165007 5
7 3-468 A #EZ2Xk ERX-2- 2 165006 4
8 3-5337 e R ERX-1-RH 16¥088 7




